
                                                     Essay – 04  Answers 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 



 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

       

                  e)         AB ,y; xw;iw jlnkhd;W cUthfpAs;s NghJ mjpu;ntz; 50Hz MtNjhL mt;thW 

            ,y;yhky; AB ,y; 3 jlq;fs; cUthfpapUe;jhy; cUthFk; mjpu;ntz; 150 Hz  MFk;.  

 

 

 

           

    



        g)  tpdhtpy; Fwpg;gpl;Ls;sJ Nghy; ,ioapd; kPJ mbf;Fk; NghJ fDnthd;W cUthfpd;wJ. 

          ,q;F ,ioapd; CD  gFjpapy; 90 vz;zpf;ifahd jlq;fs; cUthFtNjhL fD 
cUthFk; ,lj;jpy; mbf;Fk; NghJ NkNy epw;fpd;w mtjhdpg;ghsUf;F 3 jlq;fs; 
czug;gLk;. 

          mjd;gb gFjp CD ,y; 90 jlq;fs; fhzg;gLtNjhL 91 fDf;fs; fhzg;gLtjhy; D 

,ypUe;J Kd;Ndhf;fp nry;Yk; NghJ A ,y; ,Uf;Fk; mtjhdpg;ghsUf;F 90 
re;ju;g;gq;fpspy; 3 jlq;fs; czug;gLk;.  

         

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



                                    

                                 mKj;jpd; fhuzkhf cUthFk; gypj tpirahdJ, mt; 
                                 mKf;fkhdJ miu Nfhsj;jpd; js Nkw;gug;gpd; gug;gs 
                                 tpd; kPJ cUthfpd;wJ vd fUjp ngw KBAk;.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



     

 

9)  A)  

     a)    Kjyhk; re;ju;g;gj;jpy; Rw;wpDhlhfg; ghAk; kpd;Ndhl;lk; 𝑰𝟏 vdTk; ,uz;lhk; re;jug;gj;jpy; 

     ghAk; kpd;Ndhl;lk; 𝑰𝟐 MfTkpUe;jhy;  

     nfhu;r;Nrhg; tpjpapd;gb (1)              Nthy;w;Wkhdp thrpg;gpd;gb (11)  

     

 



 

 

 

 

 

 



(iii)   kpd;FkpohdJ xspu;tjw;F kpd;Fkpopw;F FWf;fhf mOj;j NtWghL (V bulb ) 11 V ,id Ke;j  

    Ntz;Lk;.mjdhy; kpd;FkpohdJ xspu;tJ Vbulb = 11.5V  MfTs;s ghaj;jpd; <uypg;ghdJ mjpf 
    khf cs;s NghjhFk;.  

 

b) i)   V = VCC  X 2/3  

          <uypg;ghdJ mjpfupf;Fk; NghJ V+ = 11.5V  

          Xspu Ntz;baJ rptg;G LED kpd;fyk; vd;gjhy;  V+ > V-  

              

            <uypg;G FiwtilAk; NghJ V+ = 10.5V  

         mg;NghJ xspu Ntz;baJ gr;ir epw LED  vd;gjhy; v+ < V-  

     

          V-  ,w;F nghUj;jkhd ngWkhdkhf 11V  ,id MNyhrpf;fyhk; 



    Ii)  Mjd; %yk;  

 

         iii)  ghaj;jpd; <uypg;ghdJ mjpfupf;Fk; NghJ  

    

 

      nraw;ghl;L tpupayhf;fpapd; gag;G  Neu; ngWkhdkhf epuk;gyile;J +6V  ngWkhdj;ijf;  
      nfhz;bUf;Fk;. 

      Ghaj;jpd; <uypg;G FiwtilAk; NghJ  

 

       nraw;ghl;L tpupayhf;fpapd; gag;G kiw ngWkhdkhf epuk;gyile;J -6V ngWkhdj;ijf;  
       nfhz;bUf;Fk;.  

    iv)  <uypg;G mjpfkhfTs;s re;jug;gj;jpy; rptg;G LED Ak;,<uypg;G Fiwthd re;ju;g;gj;jpy; gr;ir 

      LED Ak; xspUk;.  

    V)  Gs;sp B ,w;F Nthy;w;wsT eak; 1 cila Neu;khW tpupayhf;fpapid ,izj;jy;  

         

 

 

10)   A)  

         a)  i)   ∆𝑸 = ∆𝑼 + ∆W        ∆𝑸 = njhFjpapw;F toq;fg;gl;Ls;s ntg;gj;jpd; msT  

                      ∆V =  njhFjpapd; mfr; rf;jp mjpfupg;G  

                      ∆𝑾 = njhFjpapdhy; nra;j ntsp Ntiy  

 

     ii) rkntg;g nraw;ghL = thA jd;ikahd njhFjpnahd;wpy; ntg;gepiyia khwpypahf 
                       Ngzpf; nfhz;L epfo;j;jg;gLk; nraw;gL 



     cWjpntg;g nraw;ghL = thA jd;ikahd nraw;ghnlhd;wpy; ntg;gj;jpid cs;nsLg;gNjh 
                        ntsp tpLtNjh epfohky; epfo;j;jg;gLk; nraw;ghlhFk;  

 

   b)  i) rpypz;lupDs;s thAtpd; mKf;fj;ijf; fUjp   

        

       thAtpidf; fUjp   

 

 

 

 

 

 

 

 

iii) ,U gFjpfSk; khwh mKf;fk; kw;Wk; ntg;gepiyapw; fhzg;ggLtjhy;  

 

 

 



 

 

 (Gjpa ntg;gepiy T’ MftpUe;jhy; rhu;s;rpd; tpjpapd; gb) 

 

 

 

 

 



 

 

 

 

 

 

 

             


